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e int sec2fee(int sec)
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0006000 000000000 DODO0O0OO0OO0O0OOOODOoODCODOO
0000000000000 Odouble0 0000 int0O00O00OCO0OO0O0OO
oboooooboooge™

00000000 amO00000 (a+n-1)/n0000n-100000C220000
go??.00000000D0O0000O

“00000 ceilOO00Odouble 00 O0O0ODD000D0OD0O0O0O0O0OO0DODO0O0O0O0O ItOOODODO
ooooooooooooooooooon
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e int is_coinnote(int value)
value OO0 000000000 0O0OO0OO0O0O0O0OO0OODOOOO TRUECOOOOODO
OO0 FALSEOOOODO

value O 5000, 1000, 500, 100000000000 TRUEOOOOODO

e int get_coin_note(void)
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000000000000 OoO0dO0OscanfQ OOO0ONOOO0O0OOODDOO
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is.coinnoteQ UOODOODODOOD return 000000000 OCOO0OODO
gooooo
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e void put_change(int x)
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e struct tm *get_current_time(void)
000000000000o0o0oooooooong

#include <time.h>

struct tm *get_current_time(void) {
time_t t = time(NULL);
return localtime(&t);

0000 struct tm 0O <time.h>000000000CCO0O tmhour OO
0230 tmmin 00 (0-59)0 tmsecd O (0-59) 000002200
60000000000 121 0000000main()00000C00O0O0O0O0OO
ooooooooooooo

| 1212 ooooco
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e int decide_fee(void)
gooooboooo0ooooooooobobobobobbobooooooogoogo
gooooboooooobobooooooo

e int receive_fee(int fee)
00 (fee)DO0D0O0OO0O0ODODOO0ODOODOODOOODOODOODOOOOODOO
D00 feedOOODODOOOOO feed 0OOODOOODOODODOOOfeed O
gooboooooooobuooooooo

300000 sec2fee(Q UO0O0DOOOODOOOODOOODOOODDOOODOO
OO000O0oOo0oDooO0oO0e6endODDO getcoinnote() DOODODOOODOOOO
goboobooboobooooboobooboboobooboobonboo

int main(void) {

int fee = decide_fee(); // 00000000o
int change = receive_fee(fee); // DO OO0 OODO
put_change (change) ; // 000000
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#include <stdio.h> // BUFSIZ
#include <stdlib.h> // atoi(), exit()
#include <time.h> // time(), struct tm

#define FALSE 0
#define TRUE 1

/¥ 00000000 */

int input_int(void);

int sec2fee(int sec);

int is_coin_note(int value);

int get_coin_note(void);

int hms2sec(int h, int m, int s);
int sec_diff(int hl, int ml, int s1, int h2, int m2, int s2);
void put_change(int x);

struct tm *get_current_time(void);
int decide_fee(void);

int receive_fee(int fee);

/¥ DO0ADOODOOOODOOOg =/

int input_int(void) {
char buff[BUFSIZ];
if (fgets(buff, BUFSIZ, stdin) == NULL) exit(EXIT_FAILURE);
return atoi(buff); // 000 - int0O 0O

1

/* 30 00010 */

int sec2fee(int sec) {
/00000 =/

}

/¥ 60 ODDODOODOOO20 */

int is_coin_note(int value) {
/* O000aono =/

}

/¥ 60 ODDOO0OODOOO20 */

int get_coin_note(void) {
/*O000aono =/

}

/¥ 70 00020 */

int hms2sec(int h, int m, int s) {
/00000 */

}
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47 /% 70 O0D00O20 */

48 int sec_diff(int hl, int ml, int sl1, int h2, int m2, int s2) {
49 /¥ 00000 */

50 %}

52 /* 90 O0OOOOOOO */
53 void put_change(int x) {

54 printf("O000 %d OO O O\n\n", x);
55 /¥ 00000 */

56 }

57

58 /* 100 O OO */
59 struct tm *get_current_time(void) {

60 time_t t = time(NULL);
61 return localtime(&t);
62 %}

63

64 /* 120 O O0O0O */
65 int decide_fee(void) {

66 printf("000000000DO0OOO0OON\Nn");

67 printf("0 => "); int h = input_int(Q); // O OA
68 printf("0O => "); int m = input_int(Q);

69 printf("O => "); int s = input_int(Q);

70

71 struct tm now = *get_current_time(); // 100
72 printf("00000 %2d:%02d:%02d 0O O \n",

73 now.tm_hour, /* OO OOO */ 0, 0);
74

75 int sec = /* ODOOOO */ 0;

76 printf("00000 %d OO O O\n", sec);

77

78 int fee = /* DO DODOO */ 0;

79 printf("00000 %d OO O O\n\n", fee);

80 return fee;

81 }

82

g3 /* 120 OO OO */
84 int receive_fee(int fee) {

85 /¥ 00000 */

86 }

87

88 int main(void) {

89 int fee = decide_fee(); // 00000o0ooo
90 int change = receive_fee(fee); // OO OO0 OODO

91 put_change (change) ; // 000000

92 }
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